TI vs. GA Modeling

1. Use the Algorithm on page 277 and in the Display 5.1 on page 278 to complete the table in Display 5.2 on page 279. Continue up to "Numbers 1 to 32".

2. Place the values in your TI calculator in lists (NUMB, and TRY).

3. Create a Scatter Plot of this data.

4. Pick a Model that seems to fit this plot.

5. Create a Bubble Baby equation to fit this data.

6. Use the Model to predict the number of tries for the following games:
- Numbers 1 to 77.
- Numbers 1 to 100.
- Numbers 10 to 100.

7. Repeat this complete process (2-6) using Graphical Analysis (GA).

8. Which technology seems to make the best model? Why?


9. Notice that none of the models do well in describing the algorithm when we select the Number (In: the number from 1 to X. ) as the x-value. If we switch the values for X to be the Tries, and let the y-values be the Number, we will have better luck. Do this, and (to make things a tad easier) reduce the Tries values by one, assuming that once you know the number, you don’t really need to ask any more question. That is we would have (3,8) as an ordered pair, where the x-value is 3 tries or guess, and the y-value is 8, as in the numbers from 1 to 8.

10.  Now repeat the complete process (2-6) one more time using either Graphical Analysis (GA) or your TI calculator.

